D 4.32+6=0.72
@ 5.95+7=0.85
® 4.96+4 =124
@ 1.71+3=057
® 5.28 + 8 = 0.66
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® 0.289 — 0.3

webA A B4 A oA TEEPS o 7PE 4= 0.542
du ot




WHeAlS ShAL L.
43.52 + 16

> E

> =t 272

B

AlzAloz AN ALY,
2,72
16)43.52
32

11 5
11 2

32
32

0
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> &E D 2.03L

35F=214.
Sto] mHAl = 2-5.9] oF: 42,63 + 21 = 2.03(L)
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> HE D 26.8m

B Atolo] 7hA ¢ 28 — 1 = 27(H))
LR 9 L} Abo] o] ZHA 1 723.6 + 27 = 26.8(m)
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17.8kgol AUt ¥ 442 1709] FA7F 0.2kgd wlf oF5 17]<]
FAE 2 kg?lA] oA L.

» = kg

> HE D 0016kg

S ARkl A1 17.8 + 25 = 0.712( kg)
of - 32709 T 0.712 - 0.2 = 0.512(kg)
oFtE 1712 FA1 0.512 + 32 = 0.016(kg)
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1 17
4- = =17+4=4325
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10. 5.8+232 Aol wraHste] 2% S A7 Ve 9L
Aol 24 A A7 GergTh Aol 27 19
29 242 FakA 2.

H

> E

> Hehl 0.05

B ~
5.8 + 23 = 0.25217-- -
o7 Fe gLt 0.25
Aol7t g F 0.3
- 0.3-0.25 = 0.05
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361.2km

L AL g o] ARt 2 &

=

1A+
12A]7F
90.3 + 3

TS 71272 ™ A9 90.3 + 3 = 30.1(km)
S 7137 2 A 30.1 x 12 = 361.2( km)

x 12 = 361.2(km)
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TEZrO Oz 94 7L B AFRbe] A7} 7.4kg QU T ARl L
A7k 1.16kgoletal & o, =4 1719] FA= 2 kg A FSHA 2.

» = kg

> HE D 026kg

B ~
(=BS54 24719 FA)
=(ZA Y] FA)- (A qte] £A)
=7.41.16 = 6.24(kg)
(=25 1709 2A)= 6.24 + 24 = 0.26(kg)
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